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Q1. Fill in the blanks with the correct answer. 

a. A number subtracted from itself gives __________ as the answer. 

b. 72,007 + ______ = 72,007 

c. When 1 is added to a number, the answer is the _________(Predecessor/Successor) of 

the number. 

d. 9,999 + _________ =10,000  

e. 1000 more than 4,90,256 is ___________________ 

f. The numbers that are added are called the _______________ and the answer in   

    addition is called the __________. 

g. The Sum of 45678 and 23478 is = ____________. 

h. The Difference of 98765 and 32675 is = ________________. 

Q2. Subtract and check your answer with addition. 78034 - 24732  

                Subtract                                                     

 

 

 

 

                    Check 

                    INDIAN SCHOOL AL WADI AL KABIR 
                                            DEPARTMENT OF MATHEMATICS (2021-2022)       

 TOPIC: Addition and Subtraction                                                           WORKSHEET NO.  2 

RESOURCE PERSON: Ms. Sudha Pankaj       

NAME: _____________________________CLASS: IV SEC: ______ DATE: _______________ 



 

ISWK-Primary/Department of Mathematics (2021-2022) 

  
 

P
ag

e2
 

Q.3 Solve the following word problems. 

I. The cost of the motorcycle is ₹ 42,850 and the cost of the scooter ₹ 28,350. What is the 

total cost of both the vehicles? 

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________ 

II. One summer month, an ice cream store, sold 18476 ice cream cones in the first week 

and 23,580 cones in the next week. How many more cones were sold in the second 

week than the first week? 

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________ 

III. The sale of fiction books in a shop in a particular year was 28,902. If the sale of non- 

fiction books was 8,603 less than the sale of fiction books, find the number of non- 

fiction books sold.  

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________ 

 


